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j^oI=grkI
pbmI=ab`

N=_³±§¬£±±=¢~·
®°§­°=²­
³¬¢£°ª·§¬¥D±
ª~±²=²°~¢£=¢~²£
~²=NTWNR=`bqK

brobu=­¤¤§¡§~ª
±£²²ª£«£¬²=®°§¡£
­¬qq^ ±ª~±²=¢~·
­¤=¢£~ª§¬¥

N=L=RMMMKMMR bro NNOKPNMRLSLOMNT bruJ
brobu

p¦­°²
p²£°ª§¬¥
c³²³°£±

cpp¶¶
MKMP=E§K£K=P
µ§²¦=²°~¢£
®£°=MKMNF

OKMB
j­¬Jc°§=MTWPMJ
NUWMM=i­¬¢­¬
q§«£

j^oI=grkI
pbmI=ab`

r¬¢£°ª·§¬¥D±=ª~±²
²°~¢£=¢~²£=~²
NNWMM=i­¬¢­¬
q§«£K

f`b=­¤¤§¡§~ª
±£²²ª£«£¬²=®°§¡£
­¬qq^ ±ª~±²=¢~·
­¤=¢£~ª§¬¥

N=L=RMMMKMMR bro VVKSUMRLSLOMNT

f`cJf`b
crqrobp
brolmb
cfk^k`f^ip

rh=i­¬¥
d§ª²
c³²³°£±

cid¶¶
MKMP=E§K£K=P
µ§²¦=²°~¢£
®£°=MKMNF

OKMB
j­¬Jc°§=MUWMMJ
NUWMMi­¬¢­¬
q§«£

j^oI=grkI
pbmI=ab`

N=_³±§¬£±±=¢~·
®°§­°=²­

³¬¢£°ª·§¬¥D±=¤§°±²
¬­²§¡£=¢~²£=~²
NSWNR=i­¬¢­¬
q§«£K

b³°­¬£¶²Kifccb
­¤¤§¡§~ª

±£²²ª£«£¬²=®°§¡£
­¬qq^ ±ª~±²=¢~·
­¤=¢£~ª§¬¥

N=L=RMMMKMN d_m NOOKRROQLMOLOMNQ

f`cJf`b
crqrobp
brolmb
cfk^k`f^ip

brof_lo
c³²³°£±cbf¶¶

MKMP=E§K£K=P
µ§²¦=²°~¢£
®£°=MKMNF

OKMB
j­¬Jc°§=MNWMMJ
ONWMMi­¬¢­¬
q§«£

j^oI=grkI
pbmI=ab`

r¬¢£°ª·§¬¥D±=ª~±²
²°~¢£=¢~²£=~²
NNWMM=`bqK

f`b=­¤¤§¡§~ª
±£²²ª£«£¬²=®°§¡£
­¬qq^ ±ª~±²=¢~·
­¤=¢£~ª§¬¥

N=L=RMMMKMMR bro NMMKPORRLSLOMNT

f`cJf`b
crqrobp
brolmb
cfk^k`f^ip

rp=NMvo
qJk­²£
c³²³°£±
a£¡§«~ª§
¸£¢

qv¶¶
MKMS=E§K£K=P
µ§²¦=²°~¢£
®£°=MKMNF

OKMB

p³¬¢~·=NTWMMJ
c°§¢~·=NSWMM=bqJN
Eq°~¢§¬¥=_°£~©
NTWMMJNUWMMF

j^oI=grkI
pbmI=ab`

N=_³±§¬£±±=¢~·
®°§­°=²­
³¬¢£°ª·§¬¥D±
¤§°±²=¬­²§¡£=¢~²£
~²=NQWMM=bqJNK

`_lq=­¤¤§¡§~ª
±£²²ª£«£¬²=®°§¡£
­¬qq^ ±ª~±²=¢~·
­¤=¢£~ª§¬¥K

N=L=RMMMKMN rpa NOQKOTONLMTLOMNR

`_qJ
`ef`^dl
_l^oa=lc
qo^ab



OS

`ca±=~°£=¡­«®ª£¶=§¬±²°³«£¬²±=~¬¢=¡­«£=µ§²¦=~=¦§¥¦=°§±©=­¤=ª­±§¬¥=«­¬£·=°~®§¢ª·=¢³£=²­=ª£´£°~¥£K=_£²µ££¬=TQJUVB=­¤=°£²~§ª=§¬´£±²­°=~¡¡­³¬²±=ª­±£=«­¬£·=µ¦£¬
²°~¢§¬¥=`ca±K=v­³=±¦­³ª¢=¡­¬±§¢£°µ¦£²¦£°=·­³=³¬¢£°±²~¬¢=¦­µ=`ca±=µ­°©=~¬¢=µ¦£²¦£°=·­³=¡~¬=~¤¤­°¢=²­=²~©£=²¦£=¦§¥¦=°§±©=­¤=ª­±§¬¥=·­³°=«­¬£·Kq°~¢£q£¡¦
^ª®¦~=i²¢=§±=~³²¦­°§±£¢=~¬¢=°£¥³ª~²£¢= ·=²¦£=c§¬~¬¡§~ª=`­¬¢³¡²=^³²¦­°§²·=Ec`^FI=°£¥§±²°~²§­¬=¬³« £°=SMTPMRK=q°~¢£q£¡¦=^ª®¦~=i§«§²£¢=§±=§¬¡­°®­°~²£¢=§¬=b¬¥ª~¬¢=~¬¢
t~ª£±=³¬¢£°=¡­«®~¬·=¬³« £°=MUSSPONO=~¬¢=µ¦­±£=°£¥§±²£°£¢=~¢¢°£±±=§±=~²=NN²¦=cª­­°I=²¦£=_°­~¢¥~²£=q­µ£°I=OM=m°§«°­±£=p²°££²I=i­¬¢­¬I=b¬¥ª~¬¢=b`O^=ObtK

b=n=r=f=q=v==`=c=a=±



OT

`ca±=~°£=¡­«®ª£¶=§¬±²°³«£¬²±=~¬¢=¡­«£=µ§²¦=~=¦§¥¦=°§±©=­¤=ª­±§¬¥=«­¬£·=°~®§¢ª·=¢³£=²­=ª£´£°~¥£K=_£²µ££¬=TQJUVB=­¤=°£²~§ª=§¬´£±²­°=~¡¡­³¬²±=ª­±£=«­¬£·=µ¦£¬
²°~¢§¬¥=`ca±K=v­³=±¦­³ª¢=¡­¬±§¢£°µ¦£²¦£°=·­³=³¬¢£°±²~¬¢=¦­µ=`ca±=µ­°©=~¬¢=µ¦£²¦£°=·­³=¡~¬=~¤¤­°¢=²­=²~©£=²¦£=¦§¥¦=°§±©=­¤=ª­±§¬¥=·­³°=«­¬£·Kq°~¢£q£¡¦
^ª®¦~=i²¢=§±=~³²¦­°§±£¢=~¬¢=°£¥³ª~²£¢= ·=²¦£=c§¬~¬¡§~ª=`­¬¢³¡²=^³²¦­°§²·=Ec`^FI=°£¥§±²°~²§­¬=¬³« £°=SMTPMRK=q°~¢£q£¡¦=^ª®¦~=i§«§²£¢=§±=§¬¡­°®­°~²£¢=§¬=b¬¥ª~¬¢=~¬¢
t~ª£±=³¬¢£°=¡­«®~¬·=¬³« £°=MUSSPONO=~¬¢=µ¦­±£=°£¥§±²£°£¢=~¢¢°£±±=§±=~²=NN²¦=cª­­°I=²¦£=_°­~¢¥~²£=q­µ£°I=OM=m°§«°­±£=p²°££²I=i­¬¢­¬I=b¬¥ª~¬¢=b`O^=ObtK

GGmª£~±£=¬­²£I=²¦£=ª£¬¥²¦=­¤=²¦£=d£°«~¬=b¯³§²·=~³¡²§­¬=¡~¬=£¶¡££¢=P=«§¬³²£±=~¬¢=²¦£°£¤­°£=²¦£=~ ­´£²§«£±=~°£=¤­°=¥³§¢~¬¡£=­¬ª·K
c­°=±­«£=d£°«~¬=b¯³§²§£±I=²¦£=~³¡²§­¬=«~·=¡­««£¬¡£=ª~²£°=²¦~¬=NPWMP=E`bqF=~¬¢=²¦£=~³¡²§­¬=«~·=~ª±­=£¶¡££¢=P=«§¬³²£±K

Gmª£~±£=¬­²£I=²¦£=ª£¬¥²¦=­¤=²¦£=rh=b¯³§²·=~³¡²§­¬=¡~¬=£¶¡££¢=O=«§¬³²£±=~¬¢=²¦£°£¤­°£=²¦£=~ ­´£=²§«£±=~°£=¤­°=¥³§¢~¬¡£=­¬ª·K

jfkLj^u=±§¸£±=~°£=±³ ¨£¡²=²­=¡¦~¬¥£=~¬¢=~´~§ª~ ª£=­³²±§¢£=­¤=²¦£±£=²§£°±=­¬=§¬¢§´§¢³~ª=°£¯³£±²±K

bnrfqfbppvj_li j^odfk qo^afkd
elrop

pmob^a jfk=L=j^u
pfwb

bnrfs^ibkq=rkaboivfkd
nr^kqfqv

`roobk`v

c°~¬¡£ Km^ ^±=ª­µ=~±RB j­¬Jc°§=MVWMMWPMJNTWPM=`bq N=`ca=ZN=±¦~°£ bro

d£°«~¬· Kab ^±=ª­µ=~±=RBj­¬Jc°§=MVWMPJNPWMMGG
NPWMPJNTWPM=`bq N=`ca=Z=N=±¦~°£bro

k£²¦£°ª~¬¢±K^p ^±=ª­µ=~±=RBj­¬Jc°§=MVWMMWPMJNTWPM=`bq N=`ca=Z=N=±¦~°£bro

p®~§¬ Kj` ^±=ª­µ=~±=RBj­¬Jc°§=MVWMOJNTWPM=`bq N=`ca=Z=N=±¦~°£bro

pµ§²¸£°ª~¬¢KsuI=Kp̂±=ª­µ=~±=RBj­¬Jc°§=MVWMMWPMJNTWOM=`bq N=`ca=Z=N=±¦~°£`ec

rh Ki ^±=ª­µ=~±=RBj­¬Jc°§=MUWMMWPMJNOWMMG
NOWMOJNSWPMi­¬¢­¬=q§«£ N=`ca=Z=N=±¦~°£d_m

rp=E§¬¡ªK=bqcL^aoFKlnI=KkI
Km ^±=ª­µ=~±=RBj­¬Jc°§=MVWPMWPMJNSWMM=bq N=`ca=Z=N=±¦~°£rpa




